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Question Number : 1 Question Id : 1626531828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Bat is related to cricket in the same way the stick is related to
Options:

1 % badminton

-  hockey

= % foot ball

4 ® Tugby

Question Number : 1 Question Id : 1626531828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 2 Question Id : 1626531829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that is related to the third figure in the same way as the second figure is related to the first figure.

Options:



o o

Question Number : 2 Question Id : 1626531829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 3 Question Id : 1626531830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the odd figure in the series.

CO|Se |P]|LL

B & D
Options:
1% A

2_«:-”6]3

4.« D

Question Number : 3 Question Id : 1626531830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 4 Question Id : 1626531831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the next number in the series.
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Question Number : 4 Question Id : 1626531831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 5 Question Id : 1626531832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the next figure in the series.
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Question Number : 5 Question Id : 1626531832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 6 Question Id : 1626531833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following bar chart shows information about NTSE pass out percentage for “XYZ" institute for past years. Read
the chart carefully and answer the question.

2014 : |
2018

2015 ]

2008
2010
2011
2012

How many students have passed NTSE from ‘XYZ' during 2014 -167

Options:
;% 160

> o 140

Question Number : 6 Question Id : 1626531833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 7 Question |d : 1626531834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the embedded figure given below from the options.
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Question Number : 7 Question Id : 1626531834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 8 Question Id : 1626531835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Study the following information carefully to answer the question given below.
Following are the qualifications and conditions for certain posts in a “XYZ" company.

The candidate must:

a) be an engineering graduate with at least 70% marks.

b) be not less than 21 years and not more than 26 years of age as on 01/04/2018.

c¢) have passed the written test with at least 60% of marks.

d) be willing to pay a deposit of T 2.5 lakh, to be refunded on completion of probation & training.

If the candidate satisfies (a)-(e) he/she would be referred as Engineer.

However, if the candidate satisfies all the above. except:

(i) at (a). has appeared for final semester exam; result yet to be declared; has 75% average marks up to seventh
semester; would be referred as Project-Engineer.

(ii) at (a). has done diploma in engineering with 75% of marks, would be referred as Asst. Engineer.

(iii) at (d), is willing to pay < 1.5 lakh as security deposit, would be referred as Engineer-Trainee.

(iv) at (b). even if age is above 26 years as on 1/4/18, but with 3 years of experience, would be referred as Senior-
Engineer.

Pranita has completed her B.E. in electronics with 71% of marks. She also has cleared written test with 75% of marks.
She is 22 years old as on May 2018. She is willing to pay security deposit of T 1.5 lakh. For which position will she be
referred?
Options:

, = Engineer

- # Project Engineer

- % Senior Engineer

4  Engineer Trainee

Question Number : 8 Question Id : 1626531835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 9 Question Id : 1626531836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

When you are going to college. vou find some seniors are ragging your classmates. What is the best way to adopt to
tackle the situation?

Options:

, = Warm the seniors not to rag.



-  Bring this matter to the notice of the College Principal.

5 ® warmn your classmates that they could get ragged.

4 = Go and sit in your classroom.

Question Number : 9 Question Id : 1626531836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 10 Question Id : 1626531837 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How the pattern would appear when the transparent sheet is folded at the dotted line?
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Question Number : 10 Question Id : 1626531837 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 11 Question Id : 1626531838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the best option that suits the statement.

A text book always has

Options:
| « Dages
> % pictures

=z % tables



4 % illustrations

Question Number : 11 Question Id : 1626531838 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 12 Question Id : 1626531839 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Study the following carefully and answer the given question.

a& Actors
Directors qﬂ'&

Singers

Which region denotes singers. who are directors but not actors?

Options:
1 ® 4

Question Number : 12 Question Id : 1626531839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 = 4
o R 3
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Question Number : 13 Question Id : 1626531840 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Sunanda is sister of Krishna. How is krishna’s father’s sister’s daughter related to Sunanda?

Options:
1 « Cousin

> % Sister
3 R Aunt

4 % Mother

Question Number : 13 Question Id : 1626531840 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[eACT FOUTN ST gl gl FoOM F [ar $H 5§ 9 F7 Foal ¥ FAT T g7

Options:

2 T=R/AAN/ARNGHT a8

gwaﬁ



- mﬁrfg&rrfﬁﬁrmﬂr
4 #® Q:FTU

Question Number : 14 Question Id : 1626531841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If *x means +, < for —, +— means + , = means ., — for ‘equal to’, + means ‘greater than’ and ‘=’ for less than how the
following statement get transformedto 7=>10+2=9=<3 x 4?

Options:

1.« 35<10
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Question Number : 14 Question Id : 1626531841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. v 35 <10
, % 39 <5
2 % 40 < 2

. % 45 < 10

Question Number : 15 Question Id : 1626531842 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the number which, when added to itself © times, gives 140.

Options:
1 ® 12

- ® 16



Question Number : 15 Question Id : 1626531842 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 = 12
o & 16
z o 14

g4 ® 20

Question Number : 16 Question Id : 1626531843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The present ages of Ramu, Ranjeet, Naresh are in proportions 3 : 5 : 8. Five years ago. the sum of their ages was 65.
Find their present ages (in years).

Options:
| o 15,25, 40

. % 10,20,35
2 » 452316

4w 17,19,12

Question Number : 16 Question Id : 1626531843 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, » 15, 25, 40

. = 10, 20, 35



- 45 23,16

om V2 19, 12

Question Number : 17 Question Id : 1626531844 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the odd pair of words.

Options:
; » Omelets : Egg

- % Rubber: Latex

5 « Clothes : Word robe

4 % Shoes : Leather

Question Number : 17 Question Id : 1626531844 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 18 Question Id : 1626531845 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the odd pair of numerals.

Options:
1. & 115—15
> % 14412

5 % 81-9



Question Number : 18 Question Id : 1626531845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. v 115 - 15
> % 144 - 12
2% 81-9

4% 25 -5

Question Number : 19 Question Id : 1626531846 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What will be the missing term in the following series?

37.42.40. 7,43, 48
Options:
1.« 45

S 2
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Question Number : 19 Question Id : 1626531846 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 « 45

o R 46
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g ® 53

Question Number : 20 Question Id : 1626531847 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What will be the missing term in the following series?

PYEW. UL YP ?
Options:
| % AV

ooR GC

Question Number : 20 Question Id : 1626531847 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rt gaer & safad gg 7 gem?

FY; AW, UT, YE, #

Options:
1 = AV
o & GC
z « DK
g ® RO
General Awarsrness
Group Number : 2
Group Id: 16265392
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No

Revisit allowed for edit? : No



Break time: 0

Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareress

Section Id : 16265392

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 162653120
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 1626531848 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the founder of the Indian National Congress?

Options:
1 % Annie Besant

- « Allan Octavian Hume
- % Jawaharlal Nehru

4 % Sardar Vallabh Bhai Patel

Question Number : 21 Question Id : 1626531848 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 22 Question Id : 1626531849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who among the following constructed the famous Ala’i-Darwaza, situated in the Qutub complex?

Options:
| « Alau’d-Din Khalji

> % Iltutmish
- = Qutbu’d-Din Aibak

4 = Firuz Shah Tughlaq

Question Number : 22 Question Id : 1626531849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 23 Question Id : 1626531850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which among the following civilisations was also known as ‘mound of the dead’ in Sindhi?
Options:

, = Egyptian civilisation

- » Harappan civilisation



=  Mohenjo-Daro

4 = Mesopotamia

Question Number : 23 Question Id : 1626531850 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
| = T geEgar
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5 v FlEASNES
4 % H@EEHEar

Question Number : 24 Question Id : 1626531851 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Summer solstice, the moment during the year when the path of the Sun in the sky is the farthest north in the Northern
Hemisphere. falls on which dates?

Options:
1« June 20 or 21

» w July 20 or 21

z % June2or3

4 % August 20 or 21

Question Number : 24 Question Id : 1626531851 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 25 Question Id : 1626531852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following rivers is also called Tsangpo?

Options:
| % Ganga

-  DBrahmaputra

3z % Chenab

4 % Jhelum

Question Number : 25 Question Id : 1626531852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 26 Question Id : 1626531853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many members are nominated by the President from the Anglo-Indian community in Lok Sabha?

Options:
1.« Two

> % Three

z % One



4 % Five

Question Number : 26 Question Id : 1626531853 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.vf"a?r

Question Number : 27 Question Id : 1626531854 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who among the following has the power to discontinue a session in the two Houses and dissolve the Lok Sabha (in
consultation with the Executive)?

Options:
1 % The Vice President

- % The Prime Minister
= « The President

4 # The Speaker of Lok Sabha

Question Number : 27 Question Id : 1626531854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 28 Question Id : 1626531855 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Comumnittee on the Welfare of Scheduled Castes and Scheduled Tribes consists of:
Options:

; w 10 members from the Lok Sabha and 20 members from the Rajya Sabha

20 members from the Lok Sabha and 20 members from the Rajya Sabha
» 20 members from the Lok Sabha and 10 members from the Rajya Sabha

. 10 members from the Lok Sabha and 10 members from the Rajya Sabha

Question Number : 28 Question Id : 1626531855 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 29 Question Id : 1626531856 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which law states that ‘when the price of a product increases, the demand for the same product will fall’?
Options:

1 % The law of self-interest

- w Thelaw of competition

- % [Thelaw of increasing costs



4 « The law of demand

Question Number : 29 Question Id : 1626531856 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 30 Question Id : 1626531857 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which company topped the ET 500 2017 ranking, in the annual edition of top 500 companies in India put together by
Economic Times?

Options:
, = Tata Consultancy Services

- #% Reliance Industries Ltd.

5 « Indian Oil Corporation Ltd.

4 % State Bank of India

Question Number : 30 Question Id : 1626531857 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

SFIANAG TBFE 2RI UF 1Y W@ 718 g Fir MEr H 500 FIfEa F Jmi¥s @FHor H, ET 500
2017 e & T O F9ar ofid 91 of?

Options:

, w T HTecH Flads

fromow === Rfaes

g .
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Question Number : 31 Question Id : 1626531858 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
is unique form of art found in Kerala. It is essentially a ritualistic art practiced in temples where the
representation of deities like Kali and Lord Ayvappa. are made on the floor.
Options:
1 % Pulikali

> « Kalamezhuthu

5 % Theyyam

4 = Chakyar koothu

Question Number : 31 Question Id : 1626531858 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FT H 91T AT, FoT F IEEAT T gl Tg HETHA: Al H Faod T HsaliaAsm
FoT & BT Tl AT HIETT HIOTT AY SIAT3HT FT U B2 ] A Fmar g

Options:

4 ® ﬁ

Question Number : 32 Question Id : 1626531859 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Nirmal paintings are associated with which of the following states?

Options:
1 « Andhra Pradesh



> w Nagaland

= % Arunachal Pradesh

4 = Meghalaya

Question Number : 32 Question Id : 1626531859 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e el et = A & rm & 9 gé 22
Options:

iR AR
- x HTOTEE 9G9r

4 % HETST

Question Number : 33 Question Id : 1626531860 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following is also known as Lotus temple?

Options:
, w» DBadrinath Temple

-  Bahai Temple

- = DBrihadeeswara Temple

4 % Vaishno Devi Mandir

Question Number : 33 Question Id : 1626531860 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TaRRa 7 ¥ #i9 a1 7« AT & & A =T A1 87

Options:

|« T HRR
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Question Number : 34 Question Id : 1626531861 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who among the following won gold in the 74 kg Junior Asian Wrestling Championship 2018, held at New Delhi?

Options:
1 « Sachin Rathi

- % Mohit

- % Suraj Rajkumar Kokate

4 = Somveer Singh

Question Number : 34 Question Id : 1626531861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et 7 & 5w A, 75 ool 7 3o 74 kg Sfor ofie edt dfm=fm 2018 & w=of Sfar?

Options:

| o T T

O TFFAT FiFE
4 LY s |

, » TEET g

Question Number : 35 Question Id : 1626531862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the Archery World Cup held at Berlin, Indian women’s compound team lost gold to the team from which of the
following countries?

Options:

1.« France



> u Turkey

5 % Germany

4 = laly

Question Number : 35 Question Id : 1626531862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
afeT § g die=T feg &9 &, ad Afganst &1 dife &7 a =g St § ¥ &g g
T EH F T TeFH g

Options:
1 v W

4.%333?’%

Question Number : 36 Question Id : 1626531863 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which among the following is used to make non-stick cookware’s?
Options:
Ravon

..
- « Teflon
=z % Melamine

4 % DBakelite

Question Number : 36 Question Id : 1626531863 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

N-ew Foam = & fov Fm=fofee & & 21 s9aer G smer 82
Options:
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Question Number : 37 Question Id : 1626531864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Where is the headquarters of the Asian Development Bank (ADB) located?

Options:
. « Manila, Philippines

- » Beijing. China

- % Shanghai, China

4 R Jakarta. Indonesia

Question Number : 37 Question Id : 1626531864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
oS ey % (TENE) w1 ey FE Py 37

Options:

| A, R

o AieAeT, A
. x ETS, A

, xSRI, gSAfRaT

Question Number : 38 Question Id : 1626531865 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who was elected as Zimbabwe’s President after Robert Mugabe’s removal in a coup in November2017?
Options:

1 # Nelson Chamisa



5  Emmerson Mnangagwa Grace Mugabe

- = Morgan Tsvangirai

, = Kayaking Expedition

Question Number : 38 Question Id : 1626531865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FaEX 2014 # Ta¢ HIE & fagie & ¢ S & vgafa & & & g w9

Options:

1. ® ﬁ?\qﬂﬂm

CHUS HeeaT 3 ﬂﬂTlﬁ'

> o
. x HAEA FHEIADY

4 % FATHIT HHTT

Question Number : 39 Question Id : 1626531866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When was the World Biofuel Day celebrated recently?

Options:

1 10 August 2015

20 July 2018
=z % 10 March 2018

18 June 2018

i
ﬁ’{

Question Number : 39 Question Id : 1626531866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

g & H feT 39 Suw fTaw &= #amar 737 an?
Options:

. v 10 37TET 2018



, » 20 JFTS 2018

5 % 10 AT 2018

L« 18 S 2018

Question Number : 40 Question Id : 1626531867 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In May 2018, which of the following firms partnered with the National Commission for Women (NCW) to launch a
Digital Literacy Programme to train women on safe use of internet and social media?

Options:
; w Google

- « Facebook

5 & WhatsApp

4 % Twitter

Question Number : 40 Question Id : 1626531867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
75 2018 7, fafofa 7 & e sfgemat &t sewme Ay g AfFwr & gfea svaer w sffEs
w1 & v s aerar sheA o F & & BT T8 3 (TWdses,) & ary AEie #?

Options:

1 8 &
i 4 2
5 ® cglcHAY
4 & Exi EIEI
Arithrmetic Alality
Group Number : 3
Group Id : 16265393
Group Maximum Duration : 0

Group Minimum Duration : 0



Revisit allowed for view? : No

Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability

Section Id : 16265393

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 18

Number of Questionsto be attempted: 18

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 162653121
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 1626531868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
(0.26)*+(0.14)7

The value of PR E——_— equal to:

Options:
1 % 0.001

5 « 0.01
ST ] 0:1

Question Number : 41 Question Id : 1626531868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

3air 3
e (0.86)°+(0.14) =T AT B N

(8.6)2+(1.4)2-86x0.14

Options:

. % 0.001



. « 0.01

4 ® 10

Question Number : 42 Question Id : 1626531869 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The value of 1.3 + 0.123 — 0.11 is equal to:

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

, 1.96

Question Number : 42 Question Id : 1626531869 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
=P 1.3 +0.123-0.11 &1 A7 Fgs sEg gem?

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1 1.36
> 1.369
- 1.369

4 0.369

Question Number : 43 Question Id : 1626531870 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The LCM of two numbers is 35 times their HCF. If their HCF is 45 and both the numbers are three-digit numbers, then
what is the sum of their reciprocals?

Options:



Swﬁ

7

Question Number : 43 Question Id : 1626531870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ar Fl FT Tgead TATTECY 3HS Hecad WA @l 35 AT gl IE 57% Agean FATEa® 45 §
AT ST AT 9 T F TEAT §, A 395 INEINE T FT TET F7 2R

Options:
4
1. ¥ 525

-4.%»3E

Question Number : 44 Question Id : 1626531871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Three numbers are in the ratio 5 : 6 : 8 and their LCM is 7200. What is their HCE?

Options:
1 ® 30

2 « 60

3 & a0



4 % 120

Question Number : 44 Question Id : 1626531871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T HEAT 5 1 6 @ 8 F HNA H g AN 3o T A FAMTEH 7200 Fl 37 FEAII H AgeaA
HRSSS F4T gE?

Options:

1 = 30

o « 60
T 90

. % 120

Question Number : 45 Question Id : 1626531872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ifa:b=23:4, then (7a— 3b) is equal to:

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

i 3:4

[~.3
-2
Lh

5 37:19

011

-
Laa

Question Number : 45 Question Id : 1626531872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
afe a:b=23:4¢g @ (7a - 3b) frmsF sTET e

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1_3:4

2_2:5



2 37 : 19

. BE

Question Number : 46 Question Id : 1626531873 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two numbers are in the ratio 4 : 3. If each number is increased by 6, the ratio becomes 5 : 4. The difference between the
numbers is:

Options:

Question Number : 46 Question Id : 1626531873 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ar HEImat F 9 F FFAS 4 0 3 B IR T AF FEA S 6 FT feTww Ser g, A 37 & F g 5:4 &
STl §1 HEAT % & F Ao Tohder gem?

Options:

1 % 1

Question Number : 47 Question Id : 1626531874 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The length of a rectangle is increased by 50%. By what percentage should its width be decreased so that its area remains
the same?

Options:

| ® 20%

100




Question Number : 47 Question Id : 1626531874 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TF HIOT T s H 50% FH giE Fr T g1 suE diTs hw wfoea ¥ w7 & S aEge afs
3GFT SIF F8r &7

Options:

% 20%

100
—%
oo 3

SO
= ® 3

%o

L ® 25%

Question Number : 48 Question Id : 1626531875 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A person spends 90% of his income. If his income is increased by 40%, he increases his expenditure by 30%. What is
the percentage increase in his saving?

Options:

2300
%

1 ® 13

Question Number : 48 Question Id : 1626531875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TF AT HIAT HTT FT 90% T FAT gl W IHHr HT F 40% Fr IE g I &, o 58 39w =g
FT 30% 2T T ¥ 3OS Fug F yfaea gy w2

Options:



2300
13

%

,_.
®

, % 65%

1000
5 ® 13

%o

4 « 130%

Question Number : 49 Question Id : 1626531876 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
The ratio of the selling prices of two articles is 2 : 3. The first article is sold at a profit of 20% and the second at a loss of
20%. What is the overall profit or loss percentage?

Options:

100
9% loss
1 & i3

oo
% profit

> ® 13
100

“ %% loss
=z = 11

a0
A% % profit

Question Number : 49 Question Id : 1626531876 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ar IEgaT Fr hr HEw F I 2 ¢ 3§ 9gelr 35 20% F s W AR gEd g 20% Fr @
af ST &1 IHET Fo @ T @ Siowd w4 8

Options:

100
—%
1.« 13

100
— % °H
o #® 13

100,
11&:31%

w
®



Question Number : 50 Question Id : 1626531877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A sum of money becomes 130% of itself in 4 years at a certain rate of simple interest. What will be the simple interest
on ¥ 2000 for 3 years at the same rate of simple interest?

Options:
; # 350

o % T 425
2 o T 450

4 % T 480

Question Number : 50 Question Id : 1626531877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HTUT s0T &r 9T &7 o 4 ¥ & o= 130% & a7 §1 36T |reuT SO &7 9 3§ H
7 2000 & TOIT HIEOT ST 4T grEN?

Options:

% T 350

, » T 425
2« T 450

. % T 480

Question Number : 51 Question Id : 1626531878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the compound interest on I 48000 for 3 years (interest rounded off to a rupee) if the rate of interest for the first
year is §% per annum and it increases by 2% every subsequent years?

Options:
1 % 14480
> % T 14528

s % T14726



4 T15867

Question Number : 51 Question Id : 1626531878 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

3 @ % o T 48000 X TwgiE O #4T grl I gy 9¥ & v s X 8% yoav ¥ 3R sE &
I T H 2% Fr g g g7

Options:

| % T 14480
, » T 14528
2 % T 14726

4 « X 15867

Question Number : 52 Question Id : 1626531879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sides of a triangle are 26 cm. 28 cm and 30 cm. What is the length of its shortest altitude?

Options:
1 % 11.2cm
o of 22.4cm

3 % 24cm

4 % 258cm

Question Number : 52 Question Id : 1626531879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
v YT & fRAT 26 cm, 28 cm 3T 30 cm E1 SHET e T I Fr Fes Far gene

Options:
1 # 11.2 em
5> o 22.4 cm

=z % 24 cm

4 % 25.8 cm



Question Number : 53 Question Id : 1626531880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks: 1 Wrong Marks: 0.25

Single Line Question Option : No Option Orientation : Vertical
The height of a cylinder is increased by 10% and the radius of its base is decreased by 10%. What is the percentage
increase or decrease in its curved surface area?

Options:
No change

ks

FI .

- « 1% decrease
z % 1% increase

4 % 2% decrease
Question Number : 53 Question Id : 1626531880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
s e #1 795 # 10% #r 3 2 & 3R s5F 3R & = # 10% F F0 g g1 377 T

Correct Marks: 1 Wrong Marks: 0.25

(Curve) Tdg &9 & JhF IT AT Ifared 41 87

Options:
| % IS AREee @

o x 1% T
g4 # 2%m

Question Number : 54 Question Id : 1626531881 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks: 1 Wrong Marks: 0.25

Single Line Question Option : No Option Orientation : Vertical
A train of length 300 m takes 20 seconds to pass another train of length 200 m travelling in the opposite direction. If the
speed of the first train is 30 km/h, then what is the speed of the second train in kim/h?

Options:



Question Number : 54 Question Id : 1626531881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

300 #Hrex #FaTs Al U ¢ fawdia fGem F S areir 200 Hex FEE & @l 37 # UK # A
20 HFE TR g1 T Tger & @ AT 30 km/h & @ kmh F g@l & FT Ay F4m 87

Options:

1 ® 36
> R 54
z « 60

g4 ® ?2

Question Number : 55 Question Id : 1626531882 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A boat can go 15 km upstream and 21 km downstream in 3 hours. It can go 25 km upstream and 14 km downstream in

3 % hours. What is the speed of the boat in still water in km/h?

Options:
1 ® 10

2_.-_;;"12

Question Number : 55 Question Id : 1626531882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TF AE 3 9 # 15 km urr-gfage 3w 21 km 3yEE ST wEAT §1 7% 32 € # 25 km um-yiage
3R 14 km IHEE ST Hohel gl FR o=l 7 7= &1 km/h # ofq =7 gefre

Options:
1 ® 10
> o 12
ST ] 14

g4 ® 15



Question Number : 56 Question Id : 1626531883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The efficiencies of A, B and C are in the ratio 2 : 3 : 4. They together can complete a piece of work in 18 days. In how
many days can A alone complete the same piece of work?

Options:
o 2?

- ® 36

[
g{
LAy
iy

4 o al

Question Number : 56 Question Id : 1626531883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ABIRCHFFT AT H AT 2: 3 : 4 T 3 TF Ty 18 B & v& &H #1 [ & 7 &
A e faras AT & 33 17 &1 9@ F Fear 27

Options:

1 ® 27
o ® 36
S h4

4 v 81

Question Number : 57 Question Id : 1626531884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two pipes A and B alone can fill an empty tank in 4 hours and 8 hours respectively. Pipe C can empty the full tank in

5 hours. Pipes A and B are opened when tank is empty and, after 2 hours. pipe C is opened. In how many hours will the
tank be filled?

Options:



Question Number : 57 Question Id : 1626531884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ar 9T A A B 3 A 4 62 3R 8 U A wiew & s FHa £l WEY C 3He 5 ue F W
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Options:

Sub-Section Number: 2
Sub-Section 1d: 162653122
Question Shuffling Allowed : Yes

Question Id : 1626531885 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (58 to 60)
Cuesticon Label | Comprehiension



A survey was conducted among certain number of students about the
subject that they like most. The number of students and the
corresponding central angle on a pie chart are given in the table. Read the
table and answer the following three questions.

Subject English Maths Science History Mother
Tongue
Central 7 40 c o £ go 296
angle on pie | %9 (5a) (3a) 52.8 2
chart
students
Sub questions

Question Number : 58 Question Id : 1626531886 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What is the total number of students surveyed?

Options:
;% 120

> o 150
s % 180

4 % 200

Question Number : 59 Question Id : 1626531887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What is the value of (b +¢)?

Options:
1 ® 48

LM
| ]

= o

LA
g{
LA
=

e
g{
LM
o

Question Number : 60 Question Id : 1626531888 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



‘What percentage of students like Maths most?

Options:

| & 20%

4 & 30%

Question Id : 1626531885 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (58 to 60)

Cestion Label | Comprehiension

FC O F 49 37 Fwg F s 7 v gaaror e
IGT AT AT Ieg FEY SUET THS g1 Ue-=re 9 orE A gefog
FArT HIUT Fr TEAT A F & AT g1 At 9 AT few

AT 3 TETET & 9 2

B | st | afe | faee | sfae | o
qIE-TT¢ 9T
: 62.4 La)e Ial &7 Qe 720
HERT T SaC | e
STl 26 a5 29 5 :
shr HE=m
Sub questions

Question Number : 58 Question Id : 1626531886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

wdftra orEr # T HEAT F4AT 87

Options:

, % 120
- v 150
2 % 180

4 ® 200




Question Number : 59 Question Id : 1626531887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
(b + ¢) & AT F4T 7
Options:

1 = 48

> o D2

ST ] 54

g4 ® 56

Question Number : 60 Question Id : 1626531888 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT Y gTérer fAvy & orE &1 i faar 22

Options:

| % 20%
o 24%
2 = 25%

4 v 30%
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Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 162653123
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 1626531889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

His barber’s shop is located a corner of the Hauzrani village.
Options:
1. at

> % in
z ® on

4 % info

Question Number : 61 Question Id : 1626531889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

His barber’s shop is located a corner of the Hauzrani village.
Options:
1.« at

> ® in
z ® On

4 % info

Question Number : 62 Question Id : 1626531890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to fill in the blank.
Rahul drew a line over the map and said. “We will visit at least four towns this river.”

Options:
1 # A8cCross

- « along

= % under

4 ® OVer

Question Number : 62 Question Id : 1626531890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.
Rahul drew a line over the map and said. “We will visit at least four towns this river.”

Options:
1 # Aacross

5 o along

3 % under

4 % over

Question Number : 63 Question Id : 1626531891 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

Why are you taking away my plate? I vet.
Options:
1 # did not finish

- % amnot finishing

= « haven’t finished

4 % will not have finished



Question Number : 63 Question Id : 1626531891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

Why are you taking away my plate? I vet.
Options:
1 % did not finish

- w amnot finishing

= « haven’t finished

4 % will not have finished

Question Number : 64 Question Id : 1626531892 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

I have put on weight, these trousers don’t fit me any longer.
Options:
1 % and

> % but
3 ® Or

4 & 50

Question Number : 64 Question Id : 1626531892 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

I have put on weight, these trousers don’t fit me any longer.
Options:

1 % and

-~ % but

i

= # 0Or



4 & SO

Question Number : 65 Question Id : 1626531893 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

we live in the same colony. we hardly see each other.

Options:
1 % DBecause

- % Incase

5  Although

4 = Aslongas

Question Number : 65 Question Id : 1626531893 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

we live in the same colony. we hardly see each other.

Options:
1 % DBecause

- % Incase

5  Although

4 # Aslongas

Question Number : 66 Question Id : 1626531894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

The landlord Mr. Singhal when he failed to pay rent for four months.
Options:
% punished

DR

> % threw



3 o evicted

4 % forced

Question Number : 66 Question Id : 1626531894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

The landlord Mr. Singhal when he failed to pay rent for four months.

Options:
, = punished

> % threw

3 o evicted

4 % forced

Question Number : 67 Question Id : 1626531895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

In our country, many people have the habit of offering advice.

Options:
1 % unasked

> o unsolicited
%z % unfounded

4 % unnatural

Question Number : 67 Question Id : 1626531895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

In our country, many people have the habit of offering advice.

Options:
1 % unasked



> o unsolicited
%z % unfounded

4 % unnatural

Question Number : 68 Question Id : 1626531896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the synonym of the given word.

ESTIMATE
Options:
1 % solve

- % believe

3z % find

4« BSSess

Question Number : 68 Question Id : 1626531896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the synonym of the given word.

ESTIMATE
Options:
1 % solve

> % believe

z % find

4 «f Assess

Question Number : 69 Question Id : 1626531897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the synonym of the given word.

LYNCH
Options:



1 % raid
- % attack
= o Kkill

4 % beat

Question Number : 69 Question Id : 1626531897 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the synonym of the given word.

LYNCH
Options:

1 % raid
> % attack

2 ¢ Kkill

4 % beat

Question Number : 70 Question Id : 1626531898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the ANTONYM of the given word.

EMERGE

Options:
1 % surface

- % materialise

- % appear

4 « vanish

Question Number : 70 Question Id : 1626531898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the ANTONYM of the given word.

EMERGE
Options:
1 % surface

> % materialise

5 % appear

4 « vanish

Question Number : 71 Question Id : 1626531899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the ANTONYM of the given word.

PERSEVERANCE
Options:
1 #% determination

o  instability

% % resoluteness

4 % urgency

Question Number : 71 Question Id : 1626531899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the ANTONYM of the given word.

PERSEVERANCE

Options:
1 #% determination

o  instability

% % resoluteness

4 % urgency



Question Number : 72 Question Id : 1626531900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the sentence structure that is grammatically correct.

Options:

L.

An oval shaped fruit, which can be eaten raw with white flesh inside, the Dragon tree produces.

2 %
An oval shaped fruit with white flesh inside. the Dragon tree produces, which can be eaten raw.

3.9
The Dragon tree produces an oval shaped fruit with white flesh inside. which can be eaten raw.

4 ®
The Dragon tree with white flesh inside produces an oval shaped fruit. which can be eaten raw.

Question Number : 72 Question Id : 1626531900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the sentence structure that is grammatically correct.

Options:

1 %

An oval shaped fruit. which can be eaten raw with white flesh inside, the Dragon tree produces.

2%
An oval shaped fruit with white flesh inside. the Dragon tree produces, which can be eaten raw.

=
The Dragon tree produces an oval shaped fruit with white flesh inside. which can be eaten raw.

4 &
The Dragon tree with white flesh inside produces an oval shaped fruit. which can be eaten raw.

Question Number : 73 Question Id : 1626531901 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange the parts of the sentence in a meaningful and grammatically correct order.

A. how polluting industries

B. the judges wondered

C. continued to operate

D. in the Taj Trapezium Zone

E. despite the Supreme Court’s order



Options:
1 « BACDE

> % BADEC
s % ACDBE

4 % ADCEB

Question Number : 73 Question Id : 1626531901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange the parts of the sentence in a meaningful and grammatically correct order.

A. how polluting industries

B. the judges wondered

C. continued to operate

D. in the Taj Trapezium Zone

E. despite the Supreme Court’s order

Options:
1 « BACDE

> % BADEC
= % ACDBE

4 # ADCEB

Question Number : 74 Question Id : 1626531902 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following sentence, four words/phrases have been underlined. One of them is incorrect. Choose the INCORRECT
word/phrase from the given options.

You can go now but you must be back in the office between 4 o’clock.

Options:
1 % can go

> % but
% % must be back

4 « between



Question Number : 74 Question Id : 1626531902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following sentence. four words/phrases have been underlined. One of them is incorrect. Choose the INCORRECT
word/phrase from the given options.

You can go now but you must be back in the office between 4 o’clock.

Options:
1 # can go

- % but
= % must be back

4 « between

Question Number : 75 Question Id : 1626531903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following sentence, four words/phrases have been underlined. One of them is incorrect. Choose the INCORRECT
word/phrase from the given options.

No sooner we boarded the train than it started and picked up the speed.
Options:
1 % No sooner

> o We boarded
z % than it started

4 = pickedup

Question Number : 75 Question Id : 1626531903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following sentence. four words/phrases have been underlined. One of them is incorrect. Choose the INCORRECT
word/phrase from the given options.

No sooner we boarded the train than it started and picked up the speed.
Options:
1 % No sooner

> o We boarded

- % than it started



4 w pickedup

Sub-Section Number: 2
Sub-Section 1d: 162653124
Question Shuffling Allowed : Yes

Question Id : 1626531904 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cuesticon Label | Comprehension



Read the following passage and answer the questions.

THE NAME KYIRONG means “the village of happiness.”™ I shall never
cease thinking of this place with yearning, and if I can choose where to
pass the evening of my life. it will be in Kyirong. When we arrived in
January, the temperature was just below freezing; it seldom falls below -
10 degrees centigrade. The seasons correspond to what we have in the
Alps, but the vegetation is subtropical. One can go skiing the whole year
round, and in the summer, there is a row of 20,000-footers to climb.

There are about eighty houses in the village, which is the seat of two
district governors who administer thirty villages. We were told that we
were the first Europeans who had ever come to Kyirong, and the
inhabitants watched our entry with astonishment. We were quartered in
the house of a farmer, which reminded me of our Austrian houses. As a
matter of fact, the whole of the village might have been transplanted from
the Alps, except that instead of chimneys the roofs of the houses were
decorated with prayer flags.

On the ground floor were the stables for cows and horses. They were
separated by a thick ceiling from the living rooms of the family, which are
approached by a ladder from the courtyard. Thick stuffed mattresses
served as beds and easy chairs, and near them were small, low tables. The
members of the household kept their clothes in brightly painted
wardrobes, and before the inevitable carved wooden altar, butter lamps
were burning. In winter the whole family sat on the clean floorboards
around a huge open log fire and sip their tea.

The room in which Aufschnaiter and I were put was rather small, so I
soon shifted to the hay barn next door. Aufschnaiter carried on our
unceasing struggle with rats and bugs, while I had to cope with mice and
fleas. I never got the better of the vermin, but the view over glaciers and
rhododendron forests made up for my discomfort. We had a fireplace in
our room and were given wood to burn. We spent very little money; our
provisions did not cost us more than £2 10s. a month each.

The staple food in this region is tsampa made of corn, which is made
into a paste with butter tea or milk or beer, and then eaten. The Tibetans
make a special cult of tsampa and have many ways of preparing it. We
soon got accustomed to it, but never cared much for butter tea, which is
usually made with rancid butter and is generally repugnant to Europeans.
It 1s, however, universally drunk and appreciated by the Tibetans, who
often drink as many as sixty cups in a day. The Tibetans of Kyirong,
besides butter tea and tsampa, eat rice, buckwheat, maize, potatoes,
turnips. onions, beans and radishes. Meat is a rarity, for as Kyirong is a
particularly holy place no animal is ever slaughtered there. Meat appeared
on the table only when it had been brought in from another district or,
more often, when bears or panthers left part of their prey uneaten.

Sub questions



Question Number : 76 Question Id : 1626531905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The passage is an extract from:
Options:

, = abiography

> % an article

o % areport

4  atravelogue

Question Number : 77 Question Id : 1626531906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“If I can choose where to pass the evening of my life.
it will be in Kyirong.” The narrator fell in love with
Kyirong village mainly because:
Options:
, = the name of the village meant *village of happiness’

the temperatures never fell below -10 degrees
- % centigrade

- « the place was almost like his own village in Europe

4, = they didn’t have to spend much for their daily needs

Question Number : 78 Question Id : 1626531907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Match the words with their meaning.

a. yearning 1. nauseating
b. quartered 2. lodged

c. repugnant 3. longing
Options:

| % a2 b-1, ¢-3

5 % 82, b-3. ¢-1



5 o 8-3,0-2,c-1

4 % 8L, b-3, ¢-2

Question Number : 79 Question Id : 1626531908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From which sentence can it be inferred that the
narrator and his companion were mountaineers?
Options:
In the summer, there is a row of 20.000-footers to
1 « climb.

One can go skiing the whole year round.

[
5

The temperature seldom falls below -10 degrees
centigrade.

The whole of the village might have been
transplanted from the Alps.

Question Number : 80 Question Id : 1626531909 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following foods was the narrator not
able to relish?

Options:

; = Tsampa

o « Butter tea
=z % DMeat

4 % Milk and beer

Question Id : 1626531904 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension



Read the following passage and answer the questions.

THE NAME KYIRONG means “the village of happiness.”™ I shall never
cease thinking of this place with yearning, and if I can choose where to
pass the evening of my life. it will be in Kyirong. When we arrived in
January, the temperature was just below freezing; it seldom falls below -
10 degrees centigrade. The seasons correspond to what we have in the
Alps, but the vegetation is subtropical. One can go skiing the whole year
round, and in the summer, there is a row of 20,000-footers to climb.

There are about eighty houses in the village, which is the seat of two
district governors who administer thirty villages. We were told that we
were the first Europeans who had ever come to Kyirong, and the
inhabitants watched our entry with astonishment. We were quartered in
the house of a farmer, which reminded me of our Austrian houses. As a
matter of fact, the whole of the village might have been transplanted from
the Alps, except that instead of chimneys the roofs of the houses were
decorated with prayer flags.

On the ground floor were the stables for cows and horses. They were
separated by a thick ceiling from the living rooms of the family, which are
approached by a ladder from the courtyard. Thick stuffed mattresses
served as beds and easy chairs, and near them were small, low tables. The
members of the household kept their clothes in brightly painted
wardrobes, and before the inevitable carved wooden altar, butter lamps
were burning. In winter the whole family sat on the clean floorboards
around a huge open log fire and sip their tea.

The room in which Aufschnaiter and I were put was rather small, so I
soon shifted to the hay barn next door. Aufschnaiter carried on our
unceasing struggle with rats and bugs, while I had to cope with mice and
fleas. I never got the better of the vermin, but the view over glaciers and
rhododendron forests made up for my discomfort. We had a fireplace in
our room and were given wood to burn. We spent very little money; our
provisions did not cost us more than £2 10s. a month each.

The staple food in this region is tsampa made of corn, which is made
into a paste with butter tea or milk or beer, and then eaten. The Tibetans
make a special cult of tsampa and have many ways of preparing it. We
soon got accustomed to it, but never cared much for butter tea, which is
usually made with rancid butter and is generally repugnant to Europeans.
It 1s, however, universally drunk and appreciated by the Tibetans, who
often drink as many as sixty cups in a day. The Tibetans of Kyirong,
besides butter tea and tsampa, eat rice, buckwheat, maize, potatoes,
turnips. onions, beans and radishes. Meat is a rarity, for as Kyirong is a
particularly holy place no animal is ever slaughtered there. Meat appeared
on the table only when it had been brought in from another district or,
more often, when bears or panthers left part of their prey uneaten.

Sub questions



Question Number : 76 Question Id : 1626531905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The passage is an extract from:
Options:

, = abiography

> % an article

o % areport

4  atravelogue

Question Number : 77 Question Id : 1626531906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“If I can choose where to pass the evening of my life.
it will be in Kyirong.” The narrator fell in love with
Kyirong village mainly because:
Options:
, = the name of the village meant *village of happiness’

the temperatures never fell below -10 degrees
- % centigrade

- « the place was almost like his own village in Europe

4, = they didn’t have to spend much for their daily needs

Question Number : 78 Question Id : 1626531907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Match the words with their meaning.

a. yearning 1. nauseating
b. quartered 2. lodged

c. repugnant 3. longing
Options:

| % a2 b-1, ¢-3

5 % 82, b-3. ¢-1



5 o 8-3,0-2,c-1

4 % 8L, b-3, ¢-2

Question Number : 79 Question Id : 1626531908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From which sentence can it be inferred that the
narrator and his companion were mountaineers?
Options:
In the summer, there is a row of 20.000-footers to
1 « climb.

One can go skiing the whole year round.

na
i

The temperature seldom falls below -10 degrees
centigrade.

The whole of the village might have been
transplanted from the Alps.

Question Number : 80 Question Id : 1626531909 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following foods was the narrator not

able to relish?
Options:

; = Tsampa
o « Butter tea

=z % DMeat

4 % Milk and beer

Zeneral Hindl
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Revisit allowed for view? : No

Revisit allowed for edit? : No



Break time: 0

Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Cereral Hindi
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Section Number : 1
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Section Marks: 20
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Group All Questions: No
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Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 1626531910 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FSH JUIT ITeT 97 HiT AT g7

Options:
| FAA

o TAE
s AT H

4 ® 19T

Question Number : 81 Question Id : 1626531910 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FSH JUT JreT F97 HiT AT 22

Options:
% FAH

o TTE

2 AT H



4 ® a1

Question Number : 82 Question Id : 1626531911 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
H& § 3TUNRT gl I JOT HiT T T H §?

Options:
¢ HTTE

sox TATY

o #® [ 1

4% T AHTF A

Question Number : 82 Question Id : 1626531911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FS T I=Ad g JTel J0T T ¥ F97 H g7

Options:
o HTUE

1

5% TATY

z ® [ =1

48 T AT T A

Question Number : 83 Question Id : 1626531912 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FIST AT oeE YL 87
Options:

clTehol

1 ® s

zgm



Question Number : 83 Question Id : 1626531912 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FIST AT oeE YL 87

Options:
cTehol

AR . e

EJW

Question Number : 84 Question Id : 1626531913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
H FS FZ - T TS FH FA g7
Options:

1 = r\.

o o ATasg
5 % TOH
4w T o

Question Number : 84 Question Id : 1626531913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
H FIS A - T IHT FH FA F= g7
Options:

1 ® rs.

g_quﬁm



Question Number : 85 Question Id : 1626531914 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TGl el 910 H=a el g1 - TET & [@ihd 96 H FNF ¢

Options:

1.*3@

2.43#

2 v BT

4 ® 3TYERIOT

Question Number : 85 Question Id : 1626531914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FIAL G I T AL g1 - TFT F (Wb IE H FRF &

Options:

1. ® 51—'"

Ew#

3 v WD

4-»3']%3’1_{01-

Question Number : 86 Question Id : 1626531915 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘FAERT e 4T &
Options:

Lo ST+ S W
, x G + 3UH

S.b,m+éam?r

4 ® S9Er + U H



Question Number : 86 Question Id : 1626531915 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘FAERT e T 8

Options:

1% EF‘T'['@WT#
, x TG + 3
Lo T ST R

Question Number : 87 Question Id : 1626531916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FeETT eg H FiT T TAT &7

Options:

Question Number : 87 Question Id : 1626531916 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HAETT eg H HiFT T FAE &2

Options:



4 v FHURYT

Question Number : 88 Question Id : 1626531917 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
4 <
‘gearell e F 3T B

Options:
1 ® q

2_@3';”

4_&3':‘?'-

Question Number : 88 Question Id : 1626531917 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
: L
‘geamel e F 3T &

Options:
1 ® 9

2_&3';”
3 v i

4_&2—%

Question Number : 89 Question Id : 1626531918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘FEIES UE H FiT AT 9eIT &7
Options:

W & E

o % BC

2 o HIET



Question Number : 89 Question Id : 1626531918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘FEIES U H FiT TT 9eIT &7
Options:
1. * o

2
3 o SgC

Question Number : 90 Question Id : 1626531919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T3 ¥ F 9gFF g AT o §

Options:

4 % HIT

Question Number : 90 Question Id : 1626531919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

faeor ¥ F 9gFF g AT o

Options:

4 % HIT

Question Number : 91 Question Id : 1626531920 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



JcHH e FiA FT 27

Options:

| et
o % STHIA
5 % STd-=d

4_.::31.':"?!-?[

Question Number : 91 Question Id : 1626531920 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

JcHH U FiA FT 27

Options:

| et
o % STHIA
5 % STd-=d

4_%%

Question Number : 92 Question Id : 1626531921 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
g5d 9 &I TT 87
Options:

4

2_3.3 ﬁ'QE'I'H
5 » ffd®

4.JW

Question Number : 92 Question Id : 1626531921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



J5d e T TT 7
Options:

4

 w Gl
2_3.3 ﬁ-&am
> » efd®

4.JW

Question Number : 93 Question Id : 1626531922 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘e T Z=oT - =7 I F AT o gem:

Options:

1. % e

g_jm

Question Number : 93 Question Id : 1626531922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
S T g=oT - 37 I F AT oeg gem:

Options:

1. % eI

g_jmm

Question Number : 94 Question Id : 1626531923 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



A e F1 A g &
Options:

1_%‘-3-\#%

Question Number : 94 Question Id : 1626531923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘TfEr oeg &1 FEHE BT &
Options:

1_$$:Fiﬁ
o w faurTe
g_jmg

4+¢-ﬁ?-ﬂ(_'n-

Question Number : 95 Question Id : 1626531924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
GAUT A N IAIATE AL g
Options:

1 * chaleh

5 % e

siw 1

4 v T

Question Number : 95 Question Id : 1626531924 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



GAUT' UG FHT GAIETEN Tl g

Options:

4 v T

Question Number : 96 Question Id : 1626531925 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tl 2leq FH TgI=A (fFefas) g

Options:

g

Question Number : 96 Question Id : 1626531925 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tl 2eq HT TgTA (HfasTFas) gem:

Options:



Question Number : 97 Question Id : 1626531926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

L
oA I=T J1aT 99T & T@T 22
Options:

l_w,m?l"rafrg‘irérﬂél

ATAT FETAT AT AT
. » 39 I 7 W7 AL ST

Question Number : 97 Question Id : 1626531926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HFAF I=T ITeT IFT FiT T 27

Options:

| O AT A R

 ATAT HEAT aar 2T
2_ 3 e

.« 39 A F T A S

Question Number : 98 Question Id : 1626531927 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“TTE 3ARAT HETAX H AT §

Options:
1« HIHTA FHIdl

5 % HFATA FLAT

5 % G F HAAAT

4 % TS @ S



Question Number : 98 Question Id : 1626531927 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“TITE FARAT HEEX F Y g

Options:
1 ¥ HYHTA hIAl

> % HFATA FLAT

5w S F FAHAT

4, % TSTEr & S

Question Number : 99 Question Id : 1626531928 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
X FA F Bl F=OT Ag & Hebdl - TH IRT & v F=EFa &
Options:

. x HMET F AR A F-H o gy
. ST 9 SR FOAE FA O A

=% YT T Y ITAT T T

4 ® ol Tk o & aF

Question Number : 99 Question Id : 1626531928 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T FAT F el HOT F@ & vl - FH 3RT & AT g &
Options:

. » AT F AR A F-H o9 gy
Eﬁaﬁmﬁgaﬁgmmaﬁﬁﬁm

L % GF W QY el T A



4 % ol Tk F o &f

Question Number : 100 Question Id : 1626531929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FIFT T IFT T &7
Options:

, « 39 FUT HT ST

- v 38 3’9 9 HIAT Higd Fell

S
.« G, TE FH R arl

Question Number : 100 Question Id : 1626531929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

FIT T I T 27
Options:
o % HTT $UT HT ST

- v 38 3’9 I HIAT Higd Fell

., G, I8 A F A

4
subject Related

Group Number : 6

Group Id : 16265396

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0



Subject Related

Section Id : 16265396
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 162653126
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 1626531930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
By applying Euclid’s division lemma, the cube of any positive integer is of the form:

Options:
g 9mMO9m+2or9m—+7

1.
> % IMI9m+3or9m+6

2 ® Sm.9m-+-4or9m-—+5

4 Om.9m-+-1lorSm-—+38

Question Number : 101 Question Id : 1626531930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TFeET s TARSS 7 54T e W, o off aaerms qOie & 9 &1 & gem
Options:

9 mM9m+2ATO m+7

% 9MIM+3AWIm+6

« 9mIm+4TAT9m+5

42 9MIOm+1Ir9Om+38



Question Number : 102 Question Id : 1626531931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

For any positive integers ‘a” and 3, there exist unique integers ‘q’ and ‘ r* such that a = 3q + r. where r must satisfy:
Options:

1 ® 0=<r = 3

Question Number : 102 Question 1d : 1626531931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ot TR i @’ IR3F v, gk r R s @ a=3q +r, X =@ r
=T o7 & U e &

Options:

2_&61‘:r‘:3

L
b
o
| A
e
M
o

Question Number : 103 Question 1d : 1626531932 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For what least value of n. the natural number (24)" is divisible by 87

Options:

4 % No value of n is possible

Question Number : 103 Question Id : 1626531932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Spd HEAT (24)" & 8 W TarforT 2 & foIw »n &1 =g1a# A Fr grRm?

Options:
1 = -1

2_&30
3z o 1

, % N @ FS AT AT TG ¢

Question Number : 104 Question Id : 1626531933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The HCF of 4052 and 12576 is:
Options:

=
| ]

Question Number : 104 Question Id : 1626531933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

4052 3T 12576 &7 Fgcdd TATTIH gl
Options:

1_-5&2

2_-563

Question Number : 105 Question Id : 1626531934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
441

The decimal expansion of number ———5—
22x53x7

Options:



terminates after two places of decimal
is non-terminating and non-repeating
is non-terminating but repeating

4 « has aterminating decimal

Question Number : 105 Question Id ;: 1626531934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

441
mmﬁmm |

Options:

| % SIAGE & I TUEA & A FACA gl
o % AGEET AR FAEAN gem
L« IAIEET Wi Edt gem

4  3TEHET SFST g

Question Number : 106 Question Id : 1626531935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A number 2.35 is;

Options:

1 « arational number

- % an irrational number

5 % aprime number

, = arational number and a prime number

Question Number : 106 Question Id : 1626531935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HEAr 2.35 gl
Options:



| v T IRAT JEar
% UF HURAT FEar

- » UF HA=T HEAT

4 % TF INET TEAT 3T TF FE=T g& T

Question Number : 107 Question Id : 1626531936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements is true?
Options:
, % Anumbernisoddifand only if n(n ~ 1) is even

-~ # Anumber is irrational if and only if its square is irrational.

-  Anintegernis odd if and only ifn® + 2n is odd.

4 # Anumber is rational if and only if its square is rational.

Question Number : 107 Question Id ;: 1626531936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T & ¥ 35 o suw T &7

Options:

|« T e HIe 3= BwE @eh @ n(n + 1) TF g

o FIS HEA I Fsf AR g S 3HeT F° I g

IS YU shdel &t fAwH 29T &9 n® + 2n fAwm e
i 4 ~

, » PS5 TEAT el asft IRAT @R 9 sHer = 9RAT gemy

Question Number : 108 Question Id : 1626531937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The order of 2 modulo 101 is:
Options:



4 « 100

Question Number : 108 Question Id : 1626531937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2 AT 101 FT FH gl

Options:

1 #® 9?
o ® 98
=z ® 99

4 v 100

Question Number : 109 Question Id : 1626531938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Euclidean Algorithm is used to produce a sequence X, > X, > X; > X, > X5 = 0 of positive integers where

Xi= Qe Xy + X5, t = 1,2,3 | The quotients are 4, = 3,43 = 2, and g, = 2. Which of the following is correct?

Options:

1 ® ged(X4,X,) = —2X, — 6X,
ged(X,,X,) = 2X, + 7X,

ged(Xy,X,) = —2X, + 6X,

o
i

Question Number : 109 Question Id : 1626531938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TFaRT 3Eays &1 T tacas i $f 06 S0 X, > X, > X, > X, > X, =0 350 & &
fore mm% GEETU X = Que1Xes1 + Xeot = 1,2,3 | 3% $T6A CI2=3:‘13=2-HEWCI4=2§'|
Fafafas 7 ¥ i @ 53 272

Options:



ged(Xy,X,) = —2X, — 6X,

,_.
i

ged(Xy,X,) = 2X, + 7X,

ged(Xy,X,) = —2X, + 6X,

o
®

Question Number : 110 Question Id : 1626531939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For a positive integer n. by using Chinese Remainder Theorem. the number of solutions of the congruence

x* = 1(modn), whene = 3 is:
Options:
p & 2K

5 % 2k+1

4o 21{-!—2

Question Number : 110 Question Id : 1626531939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U YeTeHe Ui n & e, Sl O gAY H 9T aRa gU, S9 e > 3, FHAVAT x” = 1(modn) FH
g ___ B

Options:

1 ® g

o ® Zk-l-l
3$321?.:+I.

i 2k+2

Question Number : 111 Question Id : 1626531940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If ‘p’ is a prime, then the congruence x* + 1 = 0(mod p) has a solution if and only if:



Options:
; « P=—2o0rp= 2(mod3)

- % p=1lorp=1(mod3)

5 & PF2orp=I(mod2)

4 v P=2o0rp=1(mod4)

Question Number : 111 Question Id : 1626531940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3T ‘p HHST g, aF FHEIEAT x> + 1 = 0(mod p) T T Fad I g°W I+

Options:
; « p=—23UTp=2(mod3)

- pP=13dTp=1(mod3)

s & PF2UTp=1(mod2)

4 ¢ P=23Tp=1(mod4)

Question Number : 112 Question Id : 1626531941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wilson’s Theorem states that if ‘p’ is a prime. then:

Options:

- % p!=—1(mod p)
. v (p—1)!=—1(modp)

Question Number : 112 Question Id : 1626531941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
faews & 99T & AR R P’ AT ¢ an

Options:



» % p!=—1(mod p)

. v (P— 1! =—1(modp)

Question Number : 113 Question Id : 1626531942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The matrix representation of T on R? defined by T(x,y) = (2y,3x—y) relative to the basis {(1.3).(2.5)} is:

Options:

( 30 —48)
1. %

( 51 —48)
> R

( 30 —48)
= %

( 30 —4?)
4 %

Question Number : 113 Question Id : 1626531942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T(xy) = (2y,3x—y) @R Ifenfya Ak 77 {(1,3),(2,5)) & Foafod, R | T &7 aegqg mwaor

z &

30 —4?

_®

e F,

D
e
S F

4 &



Question Number : 114 Question 1d : 1626531943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

For what value of o, the vectors (0. 0. 1. 0), (o, 0.0, 8). (2. 0.0, ¢) and (1, 2. 9. 8) are linearly independent?
Options:

1 *® 4t

> o 14
3-@&3

4 % —1

Question Number : 114 Question Id : 1626531943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
oF FH AR F T, w0, 0, 1, 0), (0. 0, 0, 8), (2, 0, 0, ) &7 (1, 2, 9, 8) I+ & ¥ T=a¥ &7

Options:

4% —1

Question Number : 115 Question Id : 1626531944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The value of A for which the system of equations 2x—y—z=2,x—2y+z = —4 x+y + Az = 4 has no solution,
is:

Options:

Question Number : 115 Question Id : 1626531944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



A & AT S e T gHeor ot 2x—y—z=2,x—2y+z=—4 ,x+y+Az=4 F FS &I Al &
Options:

1 = 3
> R -3
3 ¢ 2

4% 0

Question Number : 116 Question Id : 1626531945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Let W be the set of all triples (X4,X»,X;) of real numbers that satisfy the equation 2x, — X, +3%; =k . If Wistobe a
vector space. then the value of k is:

Options:
1.4 0

Question Number : 116 Question Id : 1626531945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT o, W @t areafaes geamstt & fooew (xy,x,,%,) &7 TH=T T S FHEE0T 2%, — X, + 3%, =k FT
HIC AT g1 IR W TF Wigr 89 g, T k &I A gem|

Options:

1.+ 0

2_%1
3 % 2

4 % -1

Question Number : 117 Question Id : 1626531946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following set of vectors ¥ = (x4,%5,X3) and R3isa subspace of R39



Options:
, » allxsuchthatx; =0

5 o allx sneh fhat x; + 3%, =%,
- w allxsuch that x, = %

4 R all x such that x- is rational

Question Number : 117 Question Id : 1626531946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
R® & @feet x = (xy, %, %3) & =fofla & & v gg=ag R® &7 3987 g2
Options:

2 EMxFTEIER F o =0
E_Emﬂ,\'sﬂm%xl+3x2=x3

TAT x 3H PR & x, = 142

3 ®

, « T x 3W YR F x, wRAT §

Question Number : 118 Question Id ;: 1626531947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

For the operator T on R? defined by T(x,y,2) = (x — y,2x + 3y + 2z,x + y + 2z), all eigenvalues and a basis
for each eigenspace as

Options:
1. % J-'il’l =1, (1-0-_1.]; H’E = 21 (2-_21 _1.]; }"G = 31' (11'_2!_1)

J-':l’l =1, Ej.,U,_-lJ; ?Vz = 21 (ZJZJ_]-:J; ?"/3 = 31 (1!_211j

r.a
®

;Ll = 1- (:IIDJ]']J‘ ?LC = 21 [21_211]r ?LG = 31 (:1!_21_1)

d
B

J-':l’l =1, (1-11_1.]; H’E = 21 (2-_21 _1.}; }"G = 31 (1!_21_1)

o
®

Question Number : 118 Question Id ;: 1626531947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



R WY T(x,y,2) = (x—y,2x+ 3y +2zx +y+22) &F TF & AT vF @hos oors T & e, @i
ST AT 3T gT J=Eaa & #7 3R &

Options:

1.9 J]l’l = 1- (1-01_1.}; ’]L'Z = 2! (2-_21 _1J; ?lﬂ = 31 (.1!_21_1)

o ® ll = 1- (1-01_1.); }Vz = 21 (2121_1]; ?‘C“, = 31 [lJ_lej

= ® J-':l’l =1, E]-.U,].J, PL’Z = 21 [zr_zjlj: ?LG = 31 {:11_2!_1}

g4 # J-"l’l = ]-- (1-11_1.]; 1’2 = 21 (2-_21 _1.); ?‘G = 31' (_1'_2!_1)

Question Number : 119 Question Id : 1626531948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Let A denote the set of all polynomials P(x) of degree less than or equal to 2 such that P(1) =1, P(0) =0 and P'(x) > 0
forallx € [0,1]. Then:

Options:

, » A= {((1—a)x?+axtae(0,1))

5 % A={(1—a)x*+ax:ae(0,00)}

2 % A is empty

4 v A={(1—a)x* +ax:ae(0,2)]

Question Number : 119 Question Id : 1626531948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

afe A, T3 1 a1d 2 § F7 71 3R 30 & W ¢, 0 Tl gy FE=A P(x) FOFE TR S
g oma mfrxe[01] FRTP(I) =1, P0O) =03 P x>0 7

Options:

1. % A={(1-a)x*+ax:a€(0,1)}
o ® A={(1-a)x*+ax:ae(0,»)}
=z ® A E‘lﬁf%

, v A={1-a)x* +ax:a€(02)}



Question Number : 120 Question Id : 1626531949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If two zeroes of the polynomial x* — 6x* — 26x? + 138x — 35 are 2 ++/3. then other zeroes are:

Options:
1 % 3and-10

7 and —5

= o

and &

[
3¢
L

| ]

and 5

Question Number : 120 Question Id : 1626531949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IR Tg9E x* — 6x° —26x° +138x — 35 & & YIH 2+43 & o 37 =

Options:

, % 3 3T -10
o 7 3T -5
% 53R 8
4% 235

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit?:
Break time:

Group Marks:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :
Section Number :

Subject Related

7
16265397
0

0
No
No
0
20
Yes
0

0

Subject Related

16265397
1

___#



Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 162653127
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 1626531950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the two of the zeroes of the cubic polynomial ax® + bx® + cx + d are 0, then the third zero is:
Options:

C

1 # 4d

=E I =

Question Number : 121 Question Id : 1626531950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3R FyEre §g9el ax® +bx? +ox+d F YTH H W & g7 0 §, O AU TTF gl
Options:

C

1 #% a

U =



Question Number : 122 Question Id : 1626531951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25
p . 2 —3 .
The zeroes of the quadratic polynomial, the sum and product of whose zeroes are +/2 and et respectively, are:

Options:

1] [+2 =
% ® €
o S [
Sld wd Sl

e
b

S
| 3

Question Number : 122 Question Id : 1626531951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

aﬁm?ﬂ'aayqa:ﬂmm,ﬁmﬁ:aﬁaﬁmWaﬁtwmrrﬁ?-r%n—3 g d gl

2

Options:

Question Number : 123 Question Id : 1626531952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
If o, P. v are zeroes of cubic polynomial kx® —5x+ 9, and if a® + B* + y® = 27, then the value ofk is:
Options:

1_@”52

ra
#
foink

3¢ -1

Question Number : 123 Question Id : 1626531952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

uﬁa.ﬁ.yﬁmmagqalcﬁ—SxJﬂa FETF e, AR AR C+ B +yP =27, Ak F AR
_F

Options:

1 &% 2

2_@33-1
z o« —1

4 % —2

Question Number : 124 Question Id : 1626531953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If the zeroes of the polynomial x* —3x* + x+ 1 area—b, aand a + b respectively, then the values of ‘a’ and ‘b’ are
respectively:

Options:

2 ¢ 1,442



Question Number : 124 Question Id : 1626531953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
afe 9g7e x* —3x* +x+1 & YFUF FAT: a-b, aFU a + b & ar‘a’ 3T ‘b T AT FAW
_ ®l

Options:

5 o L2

Question Number : 125 Question Id : 1626531954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For what value of k, the linear equations (3k+ 1)x+ 3y = 2,(k* + 1)x+ (k — 2)y = 5 have no solution?

Options:

Question Number : 125 Question Id : 1626531954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

k % &g 7 & o, W@ gd@ewor Bk+1)x+3y=2, k> + Dx+(k—2)y=5 & #I= g 7ar &7
Options:

1_-5&':'



Question Number : 126 Question 1d : 1626531955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

2 15 5

Reduce the pair of equations B R =4, = = —2 into a pair of linear equations. Then find its solution from
: ' x+y  x-y x+y  x—y
the following options:

Options:
1 % =g, =0

% X=3,y=-2
5w X=—3,y=2
g = V=2

Question Number : 126 Question Id : 1626531955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

m?ﬂ-%_j_iz.@, 1+5 — 2 — 2 F s TEem TTH " sco| oy oafefdg e &
x+y = x=y x+y x-y

T 3GFT g AT

Options:

TL Es.) =

Question Number : 127 Question Id : 1626531956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
The solution of pair of linear equations 3x — 5y = 4,9x — 2y = 7 by the substitution method. is:

Options:
PO N
1 ®8 L
T, P
o % 137 13
-5
_x: _1}"= —_



Question Number : 127 Question Id : 1626531956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e Y garr e welewor geat 3x —5y =4,9x— 2y =7 & g Ey
Options:
5 9 .. B
1 ® 13'y 13
- e g =g
o> # 13,}' 13
5 = 9 _ -5
3. o 13,}' 13
i -9 s
4 ® 13,}' 13

Question Number : 128 Question Id : 1626531957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The solution of pair of linear equations %x A % y=i—1 g~ i y = 3 by the elimination method. is:
Options:

1 % =2 p=23

5 o E= 2,y =-—3

5 % X=—2,y=—3

i n X= —2,y=3

Question Number : 128 Question Id : 1626531957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

freier Rfey gamr YR @aetor gt —x + 2y = —1L,x—-y =3 & & 2l
Options:
& X=2,y=3



5 X S & =3

Question Number : 129 Question Id : 1626531958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For what value of £, the system of linear equations 3x + 4y = 12,x + ky = 4 has infinitely many solutions?

Options:

4
3

P
b
s | L2

L
b
|

r2 | e

Question Number : 129 Question Id : 1626531958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
k& &g o & e, e gefemot 3x +4y =12, x + ky = 4 & yomehr & AT 39S B 27

Options:
4
2

P
&
e | L

Lo

i A



Question Number : 130 Question Id : 1626531959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

For what value of £, the system of linear equations 2x —y = 3,4x + ky = 4 has no solution?
Options:

1 ® 2

2 o —2
3 % —4

4 8 —1

Question Number : 130 Question Id : 1626531959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
k& g a7 & R, Was gdfeot 2x —y = 3,4x + ky = 4 Fr qUTET o7 F1E g 4T &7

Options:

1 % 2
2 o —2
3 % —4
o3

Question Number : 131 Question Id : 1626531960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The solution of |x* — 1|+ (x—1)?+Vx2—-3x+2=0;
Options:

1 % does not exist

Question Number : 131 Question Id : 1626531960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
2 =1+ (x— 1) +Vx2—-3x+2=0 F g &




Options:

o SR

2_&3—1
3_#2

4 1

Question Number : 132 Question Id : 1626531961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A train travels 360 km at a uniform speed. If the speed had been 5 kan/h more, it would have taken 1 hour less for the
same journey. then the speed of the frain is:

Options:
1 % 45km/h

> o 40 km/h
z % 30km/h

4 % 50km/

Question Number : 132 Question Id : 1626531961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U IS Uk WA =Tl F 360 km F gl aF FI § T 71fF 5 km/h #fOw gl o 34 amw ¥
T 38 1 "er &7 F97an, ar EEmE froare gl

Options:

. % 45 km/h
- v 40 km/h
- » 30 km/h

. % 50 km/h

Question Number : 133 Question 1d : 1626531962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If x = 2 is a solution of a quadratic equation 3x* — 2kx+ 5 = 0 | then value of k" is:

Options:



,_.
e
o

—17

17
z « 4

4
5 X7

Question Number : 133 Question Id : 1626531962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ofr cord gEfeRor 3x2 —2kx+5=0F T x =2 &, T ¥ F AS gl

Options:

,_.
E
B

Question Number : 134 Question Id : 1626531963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

i ; : +1 —1 10 .
The solution of a quadratic equation —— +>— = = is:
x—1 x+1 3
Options:
1. o 52
> % 4.4
-2.3



Question Number : 134 Question 1d : 1626531963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

g AT T+ T = = g gl

Tkl 3
Options:

L v 2 2

2 ® 4. 4

5. -2, 3

" 2, 4

Question Number : 135 Question Id : 1626531964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The solution of a quadratic equation x2 + 4v2x+ 6 = 0 is:

Options:

. = V2,4/18
o ® V2,—V18
3 ® —V2,V18

4. & —V2,—V18

Question Number : 135 Question Id : 1626531964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

gaard EHERT X% + 4/2x + 6 =0 & A gl
Options:

1 ® V/E;\'lg

o B ﬁ;_\'la

o #® _\/Ej '\'18



4. ¢ —V2,—V18

Question Number : 136 Question Id : 1626531965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The diagonal of a rectangular plot is 60 m more than the shorter side *b’. If the longer side ‘a’ is 30 m more than the
shorter side, then the size ‘a x b’ of the plot is:

Options:
1 ¢ 120mx 90 m

> % 90mx60m
2 % 180m x 150 m

4 % 60mx30m

Question Number : 136 Question Id : 1626531965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
UF HAAFR @S F Fwor ST =T b & 60 m 3O §1 IfE S =T @ o g5 W30 m
O E, A q@s F AT 'a < b gl

Options:

1« 120 m x 90 m
> % 90 m x 60 m
z % 180 m x 150 m

4 % B0 m x30 m

Question Number : 137 Question Id : 1626531966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Let T, be the 1 term of an AP, forr = 1, 2, 3,.... If for some positive integers m and n. wehave T, = i and T, = i:
then T, equals:

Options:

1. % 0

2 ¢ 1



Question Number : 137 Question Id : 1626531966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

W, =1, 2. 8., FRe T W}ﬁvﬁa:rrﬁqa%wﬁaﬁﬁﬁamgpﬁmmahna:ﬁm

WWTm=i3-ﬁTTn=i§',ETTm?-TW 2

Options:

1_5&0

Question Number : 138 Question Id : 1626531967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sum of the first ‘2n’ terms of the A.P. 2, 5. 8, ... is equal to the sum of the first *n’ terms of the AP. 57, 59, 61......,
then ‘n’ equals:

Options:
1 ® 13

- ® 12

z ¢ 11

Question Number : 138 Question Id : 1626531967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T HHAEET A0 2, 5, 8, .. & 9 ‘2n’ 92l &7 IT, AT Aofr 57, 59, 61....., % 9gar n 9&r &
IR & & g, df ‘n’ % A gl

Options:



1 #® 13
o ® 12
3¢ 11

4 ® 10

Question Number : 139 Question Id : 1626531968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
. . ; 1 3 5 7 ;
Sum to *n’ terms of the series - i
1.2.3 2.3.4 3.4.5 4.5.6

Options:
n{n+ 2)
. % M+D(n+4)

n(n+1)
2(n+1)(n+4)

o R

n{n+ 2)
s & (M+3)(n+4)

n(3n+1)
4 Hn+1)(n+2)

Question Number : 139 Question Id : 1626531968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

. 1 3 5 7 41 .
i 1.2.3 ¥ 234 ¥ 3.45 *h 4.5.6 s a; & q?n' il Iﬁ'a‘T = |
Options:
n(n+ 2)

L x (+1)m+4)

n(n+1)
2(n+1)(n+4)

2.

n{n+ 2)
s 8 (M+3)(n+4)




n(3n+1)
4 Hn+1)(n+2)

Question Number : 140 Question Id : 1626531969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A manufacturer has 600 L of a 12% solution of acid. How many litres of a 30% acid solution must be added to it such
that acid content in the resulting mixture will be more than 15% but less than 18%?

Options:
1 % more than 140 L but less than 320 L
- % more than 110 L but less than 290 L

= % more than 220 L but less than 300 L

4 « more than 120 L but less than 300 L

Question Number : 140 Question Id ;: 1626531969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

v AT & 9w 12% ©vf@s =7 600 L =i g1 30% tfds o & fhasr e sud anfde e o=
TifeT o5 ofyomsr @smr & of@is el 15% ¥ 30 & 9 18% & &7 &2

Options:

L% 140 L § STGT W 320 L & &H
oox 110 L & 50eT W 290 L & %A
2% 220 L & STeT X 300 L & &H

4 120 L & Smer 9T 300 L ® &+

Subject Related

Group Number : 8

Group Id: 16265398
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0

Group Marks: 20
Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0



Minimum Instruction Time: 0

Subject Related

Section Id : 16265398

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 162653128
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 1626531970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

How many numbers must be selected from the set {1. 2, 3, 4. 5. 6} to guarantee that at least one pair of these numbers
add up to 77

Options:

1_@33

e
¥
LAy

Question Number : 141 Question Id : 1626531970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TH==T {1, 2, 3, 4, 5, 6} ¥ Tl wEwmat &1 w9 G ARC afs AREa w d T A aFA @
FH UsF HAT F TET 7 87

Options:

1 ® 2

2_5&3
3z 4

4 % D



Question Number : 142 Question 1d : 1626531971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the coefficient of x*°*y®° in the expansion of (2x — 3y)?%??

Options:

. (Zgﬂgn) 2101399

. _(19091)2191399

. (19091) 2101399

» ) (29090)2191399

Question Number : 142 Question Id : 1626531971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
(2x —3y)?°° & gaR # x'°'y*? & U fraeT B2

Options:

- (29090) 2101399

. _(19091)2101399

. (19{]91) 2101399

T (29090)2101399

Question Number : 143 Question 1d : 1626531972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The solution of the recurrence relation a,, = 6a,_,—9a,_,,a, = 1,a, = 6 is:

Options:

1 ® a, = (ﬂ— 1)3“



a, = (1 —n)3"
5 o B = (1 +m)3"

4 B ﬂ:::l+nj6ﬂ

Question Number : 143 Question Id : 1626531972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

qfr!TqFFr HaT a, = 6d,_—9, 5,00 = 1,03 =6 o gA gl
Options:

;% Gp=(m—-1)37

5 # Oy =(1-—mn)3"

5 o &= (1 +n)3"

— (1 +n)6™

=

o
5

Question Number : 144 Question Id ;: 1626531973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many positive integers less than 200 are NOT divisible by three or more primes?

Options:
1 % 197

5 o 168

Question Number : 144 Question 1d : 1626531973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

200 ¥ &7 fhae g=cAs U oI T A0 =T TEIS ganT Sy =6 282

Options:

% 197

> « 168



2 % 122

g ® 55

Question Number : 145 Question Id ;: 1626531974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
How many positive integers not exceeding 1000 are divisible by 7 or 117

Options:
1. ® 12

Question Number : 145 Question 1d : 1626531974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1000 & &, fohae aarca s qUie 7 &1 11 & foemea =@f 872

Options:

1 ® -12

> R 90
o % 142

L v 220

Question Number : 146 Question Id : 1626531975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Iff(x) = ‘((y"}_{— VX + 1) . then:

Options:
; = I(x)is not differentiable at x =0

- w [(x)is continuous but not differentiable at x =0

3 v f(x) is differentiable at x=10



4 w 1(x)is differentiable at X # 0

Question Number : 146 Question Id : 1626531975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ofe f(x)zx(ﬁ—MJ, ar:
Options:

% f(X) x = 0 9T TFaAT 7l g

. x f() HAd § WG X = 0 T FTFeld el gl

2 v f(X) x = 0 N EaFe=T gl

f(x) x = 0 T TFaaT &l

g4

Question Number : 147 Question Id : 1626531976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
X X . .
Iff(x) = — and g(x) = it where 0 < x =< 1, then in the interval:
S X anx

Options:
, « I(X)is an increasing function

g(x) is an increasing function
Both f(x) and g(x) are increasing functions

Both f(x) and g(x) are decreasing functions

Question Number : 147 Question Id : 1626531976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I f(x)=— sivg®x)=—— S O0<x <1, T 37 3T T

sin x tan x

Options:
Sz f(x) T ST 3T Fored gl

- g(x)ﬂﬁ:ﬁ@ﬁg}ﬁﬁﬁ%l



- aar fix) 3w g(x}ﬁ%ﬁg‘?ﬁ?—rﬁzl

, o f(x) 3R g(x}m?qﬁﬁ?l

4,

Question Number : 148 Question Id : 1626531977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The set of all points where the function f(x) = 2x|x| is differentiable. is:

Options:
1 #® !:ﬂ? OOJ

o R [GJ DO:J

3 o (72,)

4 % (2.0)U(0,00)

Question Number : 148 Question Id : 1626531977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

melr Fegait 1 FEemw ST wo f(x) = 2x|x| sEweRtw g, 39wl Regat # wa=w gl
Options:

3. @ (01 DO)

ok @ [ﬂfm)

= o (_m: m)

4 % (700.0) U (0,00)

Question Number : 149 Question Id : 1626531978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

i
The second derivative of the function f(x) = & atx=e is:
Options:

1
;% e



1

i

4 —E{:::J_E

Question Number : 149 Question Id : 1626531978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1
x = e 9T ot flx) = 2% FT G gcae gl
Options:
1

1 % e’

1
2 % ¢

1
3 # e

4 o — e (%)_3

Question Number : 150 Question Id : 1626531979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ax*—b, |x|<1

If the function f(x) ={ -1 x| > 1
lxl’ -

is differentiable, then the values of a and b are respectively:

Options:
, % 05,05

o o 05 15

4 % 1.-1

Question Number : 150 Question Id : 1626531979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



ax®—b, |x]<1

IR BT f(x)={ =1 |x|}134m#m%,a‘raaﬂ?ha:rm;rmrt 2|
lxl’ -

Options:

, % 05,05

. ¢ 05, 1.5

s u 1,2

4% 1, -1

Question Number : 151 Question Id : 1626531980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
. 2 (1+sin x) g
The value of the integral | TR iy
= l+cosx
Options:

= sin(logx)+C
> % e*cotx+C

5 » logltanx| +C

it e"tan(g)—i—{.'
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Correct Marks: 1 Wrong Marks: 0.25

¥ ;
o [ S gy o A 2l

i+cosx
Options:

. % sin(logx) +C
> % e*cotx+ C

- » logltanx| +C

— e* tan (;) -



Question Number : 152 Question 1d : 1626531981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Euclid’s fifth postulate is:

Options:

1w

If a straight line, falling on two straight lines. makes the interior angles on the same side of it, taken together less than
two right angles. then the two straight lines if produced indefinitely. meet on that side on which the sum of angles is less
than two right angles.

- w The whole is greater than the part.

5 # A circle may be described with any center and any radius.

, = Allright angles are equal to one another.

Question Number : 152 Question Id : 1626531981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IiFers @1 qrgdr sfEumor g

Options:
e

I gr drefr YaErdt 9v P arelr J@efr ar 39 T & O % HaHIT §91ar 2, S U '@y R
T WA TARM A FFE e e, s s s e = & g o faear &
3rg 9T FUT FT T S THAIT T FH 2T 2

, « O RE A

. » TR o g AR TR off Tiew & @Y o ged & AU fRIT ST EhT 2

o AT HAFIOT Teh gL o TR gl

Question Number : 153 Question Id ;: 1626531982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The following theorems present conditions under which triangles are similar. Which is a false conditions of the
theorem?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

. The cotresponding sides of the triangle are proportional and the corresponding angles are no congruent.



Side-Angle-Side similarity requires the proportionality of two sides and the congruence of the angle between those
> sides.

Side-Angle-Side similarity requires the proportionality of all three sides. If all of the sides are proportional, then all of
the angles must be congruent.

4 Side-Angle-Side similarity requires the congruence of two angles and the side between those angles.

Question Number : 153 Question Id : 1626531982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

farafaf@a v 3 od gaa & e faeta e gasT 81 9897 & 7rod od #ia o g2

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

| PRI Y W e FEEEE @ € #R w7 weere 76 A

HAT-HIVT-T AT & T ar =3l Hr FAGEIaear 3R 39 1 =3t & &= &
, TPI0T T FEARTHHAST I HGRTHAT g ¢l

SSTT-FIUT-8J=T FATAT & forw Fweft i sg=mait F FRegeiaear fr saegwar g 81 3fs wsfr
_ ¥oTT WA §, & Tl FI07T FETEA @ & e

AU FAAAT & ToIC &1 1ot AR 37 FI0T & & FT [ B FARTHAA T ATl @il g

4

Question Number : 154 Question Id : 1626531983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For proving that a quadrilateral is a parallelogram. prove any of the following valid conditions:

Options:

, = All4 angles are congruent.

- = Its diagonals are perpendicular.

-  Both pairs of opposite angles are congruent.

4 = Itisboth a Rhombus and a Rectangle.

Question Number : 154 Question Id : 1626531983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T TGHS F, FAR IT bE w1 F O, Fmeide aew adt § 7 #1F of e w5t
Options:

, » T 4 FO FaETEA ¢

, % $Eh 0T FEEd g
. o EIT FOT F el TTA FEETEA

, » T8 TF WEAGS IR TF 3E, A g

Question Number : 155 Question Id : 1626531984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The center of the nine point circle:

Options:
; = Isnot the midpoints of the three sides.

-  Is the circumcenter of the triangle.

- » doesnot lie at the midpoint of the segments joining the orthocenter to each of the vertices.

4 % Isapoint in which one among nine points.

Question Number : 155 Question Id : 1626531984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
At fag arer g 7 F9
Options:

| O eIt F FeAleg 7 B
. PR AR
.y T FRIRg #F sreden ¥ Seaae @ & wew fig W) a7 @ @ g

. % fig § rwd At et # 7 o= §

4,



Question Number : 156 Question Id : 1626531985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Identify the false statement given below:

Options:

, = Ceva’s theorem is concerned with concurrency of the lines.

> w Menelau’s theorem is concerned with the collinearity of the points.

= « Menelau’s theorem is a not dual version of Ceva’s theorem.

4 %

If the quadrilateral is cyclic. then the product of the two diagonals is equal to the sum of the products of the opposite
side lengths.

Question Number : 156 Question Id : 1626531985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T FYT H IgTT FL

Options:

| » TET F TAET @A T TgEear ¥ gEaT gl

, o PEOISH # gAT RgH H GEEHS ¥ FEd g

. v HAGISE F F THT WG F THT FT G187 GEHIT Fe g

g4 #

Ifg T =T g, @ ar ot & auese Rl e # FEE F quEee & IET & W g

Question Number : 157 Question Id : 1626531986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The area of the quadrilateral whose vertices, taken in order, are (—4,—2). (=3, —5),(3,—2) and (2, 3), is:
Options:

; = 22 sq.units

26 3q. units

5 28 5q. units

23 3q. units

o
5



Question Number : 157 Question 1d : 1626531986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o Rrifdg, waree = &, (—4,-2). (-3, —5),(3,-2) 3k (2, 3) & ¥ =ges & &vva

G
Options:
, % 22 sq. units

> » 26 sq. units
5 28 sq. units

4 % 23 sq. units

Question Number : 158 Question Id : 1626531987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If(1.5. 0). (1.5, 6) and (-1, 6) are mid points of a triangle, then the incentre of the triangle is:

Options:

2
1 * (514)
oo CLZJ
= #® [2,3)

4 ® @LD)

Question Number : 158 Question 1d : 1626531987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
afE (1.5, 0). (1.5, 6) 3R (-1, 6) B[ & 7w g &, o P & 3=a&s gl

Options:

1 ® G,%)
> v (1,2)

= ® (2r3)



4 # (4r {])

Question Number : 159 Question 1d : 1626531988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a triangle ABC with vertices A(1,2),B(2,3) and C(3,1) and £C = cos™? G) ZB= PN gt (%) . Then the
coordinates of circumcentre of the triangle are:

Options:
% (11,2)

> = (2,13)

(11 2)
3¢ \6’

(13 11)
4.«:53 6,6

Question Number : 159 Question Id : 1626531988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

x . —1 E L . -1 1 i
P ABC IR A(1,2),B(2,3) 3R C(3,1) 3T £C = cos (5).4B= 2a=cos! () &
ar e & oy & gl
Options:

;= (11,2)

> % (2,13)

(&2)

=

Question Number : 160 Question Id : 1626531989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The area of the triangle formed by the straight lines 7x —2y+10=0,7x+2y—10=0 and9x +y + 2 =0 is:

Options:



626
1 ¥ 275

3. units

6523 .
" - §Q. umts
- ® 275

686

5. units
= #® 255 q‘

868 ;
. = Eq_. urits
4 ® 275
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Correct Marks: 1 Wrong Marks: 0.25

e @ 7x —2y +10=0,7x+2y—10=0 gw Ix+y+2=0 ¥ TR ww a95a _____ @I
Options:
636 :
_—— 5. umis
1. 9 275
638 ;
_ —— §q. units
o ® 275
636 ;
_ —— §q. units
3 # 255
868 :
_ —— 5. units
4 #® 275
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Question Number : 161 Question Id : 1626531990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The distance between two parallel lines is unity. A point A lies between the lines at a distance ‘a’ from one of them. If
the vertex B lies on one of the parallel lines and the vertex C lies on the other line. then the length of a side of an
equilateral triangle ABC is:

Options:
2 ;
. % EJ(QE +a + 1) units
2 ;
57 EJ(QZ +a — 1) units

il %J(az —a + 1) units

2 ;
P, EJ(QE —a + 1) units

Question Number : 161 Question Id : 1626531990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A TAR @ FTTHF P vF 5F5 2 T PG A AT T TH § g 2’ W ARAl F o
ol s B s A a e R iR Ccgim R Tm e &
THTE ¥ ABC % T& o= &1 wars gl

Options:

é\/(az +a + 1) units
3

= 2 = -
«,E‘/ (a2 + a — 1) units



. %J(ﬂz —a + 1) units

= 5 -
ﬁ\/ (a? — a + 1) units

Question Number : 162 Question Id : 1626531991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The angle 6 between the lines joining the points (0, 0),(2,3) and (2,—2),(3,5) is:
Options:

Question Number : 162 Question Id : 1626531991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

famgait (0, 0),(2,3) 3k (2,-2),(3,5) ¥ == @it % &= =1 Hor 0 gl
Options:

s {4
N L 23)



Question Number : 163 Question Id : 1626531992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Three circular coins each of radii 1 cm are kept in an equilateral triangle such that all the three coins touch each other
and also the sides of the triangle. The area of the triangle is:

Options:

0 S (6+4+/3) cm?
o @ (4+2v3) cm?

- >(12+ 7v3) am?

o ~(48+ 7v3) am’?

Question Number : 163 Question Id : 1626531992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1 cm B=ar art 7 gaeR (et & v w@Heg o= # s o @ 9 ¢ 5w @ e 99
o wH-gEy 1 AR e A et # s Tt W ¥ TR 1 v gl

Options:

> (6 + 4@} cm?

(4 -~ 2\@) cm?

b

i(lZ + 7v/3) cm?

i(-@ﬂ + 7v/3) cm?

Question Number : 164 Question Id : 1626531993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The area of an equilateral triangle inscribed in the circle x* + y* + 2gx+ 2fy + ¢ =0 is:

Options:
VZ7

e

J (g% + 2+ 1) sq. units

3 '\-"E

o o 4

J (g% +f%— 1) sq. units



3”3\/(32 f2— 1) sq. units

7 aﬂ\/ﬂgz + f2+ 1) sq. units

Question Number : 164 Question Id : 1626531993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

god x? + y? +2gx + 2fy +c =0 # T UF GHAG TS F ATHA gl

Options:

wz?\f( 2+ f?2+ 1) sq. units

31"3\;’( 2+ f2—-1) sq. units

343 \’1( 2. £2-= 1) sq. units

31.-3
4 %

\/(g + f2+ 1) sq. units

Question Number : 165 Question 1d : 1626531994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The circle x? + y? = 1 cuts the x-axis at A and B, another circle with centre at B and variable radius, intersects the first
circle at C above the x-axis and the line segment AB at D. Then the maximum area of the triangle is:

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

24/3 .
—— 5(. units
1. 9

4
—— $Q. units
> 3V3

4V3

sQ. units
z 9 "



442 .
—— s$q. units
4 3

Question Number : 165 Question Id : 1626531994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0.25

ged x24+y? =1, AFRB R x-3eT A FeaT &, & iR ged S Fg B W &

AR =X B arem 8, 98 98 god & x-38 & FR C W TU WEs AB & D WX FEar gl
e w7 sfam 9w B

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
Options:

24/3
i 9

sq. units

4 :
—— 5q. units
> 33
443 :
—— 5q. units
"
442

Sq. units
N

Question Number : 166 Question Id : 1626531995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The perimeter of a triangle right angled at C is 70, and the in-radius is 6. Then |a — b| equals:

Options:
1 ® 3

| ]

4.4 1

Question Number : 166 Question Id : 1626531995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



C WX FHFIUT el T T3y & 9RAW 70 g 3R 38 3mai= B 6 31 & [a—b| sww &
Options:

1_-5-568

Question Number : 167 Question Id : 1626531996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The wheels of a taxi are of diameter 80 cm each. How many complete revolutions does each wheel make in 10 minutes
when the taxi is traveling at a speed of 66 km/h?
Options:
1 % 4355

[
3’{
Ao
i
[
LA

L
3’{
=,
~1
L
iy

LA

4 o 437

Question Number : 167 Question Id ;: 1626531996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Teh SHFHT % Yods Tigd @ =0 80 cm g1 Tedes uigar 10 e # fhaa afemsur qor
FLM, T ¢FET 66 km/h FHr TFAR & IT FT T ar?

Options:

| % 4355

o % 4325
5 u 4735

.« 4375

Question Number : 168 Question Id : 1626531997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



A vessel is in the form of a hollow hemisphere mounted by a hollow cylinder. The diameter of the hemisphere is 14 cm
and the total height of the vessel is 13 cm. Then the inner surface area of the vessel is:

Options:
1 % 527 em?

5 « 572 cm?
= % b62cm?

4 % 542 cm?

Question Number : 168 Question Id : 1626531997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TF Oig, T @@ A F ¥ F § Bue 7 s @ dua 3fRg 21 oerd & samw 14 om
g A 91T # T F5 13 cm g1 T 9T F HTd wag F7 ST gl

Options:
; % 527 cm?

> « 572 cm?
5 ® 562 cm?

4 % 542 cm?

Question Number : 169 Question 1d : 1626531998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A medicine capsule is in the shape of cylinder with two hemispheres stuck to each of its ends .The length of the entire
capsule is 14 mm and the diameter of the capsule is 5 mm. Then its surface area is:

Options:
1 % 120 mm?

> # 210 mm?
2 « 220 mm?

4 = ifthe radius of the cylinder is 60 cm and its height is 180 cm.

Question Number : 169 Question Id : 1626531998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



SaT o Tk HegeT Woist & ’FR A ¢ W F o Mo 39 F g I W RAuF § @ Fge
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Options:

; ® 120 mm?

> % 210 mm?

3 « 220 mm?>

o IfE faeisT &1 F==ar 60 cm & 3T sEdr =15 180 cm 2

Question Number : 170 Question Id : 1626531999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A solid consisting of a right circular cone of height 1.20 m and radius 0.60 m standing on a hemisphere of radius 0.60 m
is placed upright in a right circular cylinder full of water such that it touches the bottom. If the radius of the cylinder is
0.60 m and its height is 1.80 m, then the volume of water left in the cylinder is:

Options:

. v 1131 m?
. % 1031 m3
2 % 1132m3

4 % 1130m?

Question Number : 170 Question Id : 1626531999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

0.60 m == & =Merd T &9, 1.20 m & F=18 TUT 0.60 m =T F TF W FFEGAT qF
T THh Tl § S TFEgcdId SR §ad H WY I@n 737 g, 5w @ 98 A9 & g9 &+ gul 3
ol $r Br=ar 060 m & 3T sTHr F=12 1.80 m &, o o7 H o= IAT F FAAA gl

Options:

. v 1131 m3
, % 1031 m3

2 % 1132 m3



4 % 1130 m®

Question Number : 171 Question Id : 1626532000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

In AABC. right angled at B, if tan A = %E then the value of sin A cos C + cos A sin C is equal to:

Options:

| ]

Question Number : 171 Question Id : 1626532000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
B 97 THEIUETS AABC &, T tanA = —  @r sin Acos C+ cos Asin C & &S e

R
Options:

1_-&6&0
> o 1
3_%2

4.-5-:34

Question Number : 172 Question Id : 1626532001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Iftan(A—B) = = tan(A +B) =+/3, 0° < 2(A+ B) < 90° with 2A is greater than £B . then ZA and 4B are:

e
Options:
| & LA= 45°¢B= 15°

> % ZA= 60%£B= 15°

. % LA= 45°/B= 25°

4 # ZA= 30%£B = 15°



Question Number : 172 Question 1d : 1626532001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
7MY tan(A—B) = =, tan(A+B) = V3, 0°< £(A+B)<90° =gl £A @1 2B ¥ ==r ¥ ar 2A AR 4B #

Options:

LB = 45° 4B = 15°

om LA= B0°2B= 15°

som LA= 45° 7B = 25°

yom LA= B0°4B= 15°

Question Number : 173 Question 1d : 1626532002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If sec 4A = cosec(A — 20°), where 4A is an acute angle. then the value of A is:

Options:
| & 20°

> % 21°
2 % 24°

4 22°

Question Number : 173 Question Id : 1626532002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
afg 4A = cosec(A — 20°), ST 4A UF =T FI0T g, A F AT ¢

Options:

% 20°

o » 21°
3w 24°

4 22°

Question Number : 174 Question Id : 1626532003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

The value of sin 25° cos 65° + cos 25%sin 65° is:
Options:

iy

= o« 1

| =

| g

Question Number : 174 Question Id : 1626532003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

sin 25° cos 65° + cos 25°5in 65° F AT &
Options:

1 % 0

Question Number : 175 Question Id : 1626532004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The angle of elevation of the top of a building from the foot of a tower is 30° and the angle of elevation of the top of the
tower from the foot of the building is 60°. If the tower is 50 m high, then the height of the building is:
Options:
50
RS L 1
1. w3

1

— 1m
3



Question Number : 175 Question 1d : 1626532004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

IR FaAT T AT F M A FTE FTsmaaFm 30’ g ik s s T et +
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Options:
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1 o
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Question Number : 176 Question Id : 1626532005 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A 120 cm tall boy spots a balloon moving with the wind in a horizontal line at a height of 8820 cm from the ground.
The angle of elevation of the balloon from the eves of the boy at one instant is 60°. After some time, the angle of
elevation reduces to 30°. Then the distance travelled by the balloon during this interval is:

Options:
. % 8700v3 cm

5 % 2900v3 cm
- « 5800v3 cm

4 % 5700vV3 cm

Question Number : 176 Question Id ;: 1626532005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25

T 120 cm &1 @S STHA § 8820 cm FH Furs W T &Afaet W@ H gaT F WY T T[EERT
35 3@AT gl T T T # e f FWT § EER F 3ewdA Hi0T 60° B FO THAI TG,
Seotdl HIT 30° TF FH @ AT gl 3H AU F R EER @R T H ME T &

Options:

, = 8700V3 cm




- % 2900v3 cm
- v 5800V3 cm

4 = 57003 cm

Question Number : 177 Question 1d : 1626532006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a histogram, each class rectangle is constructed with base as:

Options:
, = frequency

- « class interval

= % size of the class

4 % range

Question Number : 177 Question Id : 1626532006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 178 Question Id : 1626532007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Construction of a cumulative frequency table is useful in determining the:

Options:
1 ® 1nean

> « median



3 % mode

4, = all the three given measures

Question Number : 178 Question 1d : 1626532007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 179 Question Id : 1626532008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a retail market, fruit vendors were selling apples kept in packing boxes. These boxes contained varying number of
apples. The following was the distribution of apples according to the number of boxes.

No. of apples: 50— 52 53—55 56-—58 59-61 62—64
No. of boxes: 15 110 135 115 25

Then the mean number of apples kept in a packing box was:

Options:
| % 59.16

5 % 61.54

T
S
LA
:-J
yee
o

4 % 52.64

Question Number : 179 Question Id : 1626532008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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st Hr g&=ar : 50 - 52 53 - 55 56 -58 59 -61 62 - 64
g fr g=ar ;. 15 110 135 115 25
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Options:

, % 59.16
. % 61.54
- v 57.19

. % 52.64

Question Number : 180 Question Id : 1626532009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the median of the distribution given below is 28.5.

Class: 0—10 10—20 20—30 30—40 40—50 50—60
Fregs 3 a 20 15 b 5 Total 60

then the missing values of a and b are respectively:

Options:

-1

1 % 3

-1

2« 8

4]
®
o

Lh

=
Ln

Question Number : 180 Question Id : 1626532009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 181 Question 1d : 1626532010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A boy noted the number of taxi passing through a spot on a road for 100 periods each of 3 minutes and summarized it in
the table given below.,

No. of taxi: 0— 10 10—20 20— 30 30—40 40—50 50— 60 60— 70 70— 80
Frequency: 07 14 13 12 20 11 15 08

Then the mode is:

Options:
1 % 375

5 % 29.8
s % 321

4 447

Question Number : 181 Question Id : 1626532010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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dFdr fr @A 0 - 10 10 -20 20 - 30 30 -40 40 - 50 50 - 60 60 - 70 70 - 80
e 07 14 13 12 20 11 15 08

ar ageler gem:
Options:

| % 375
. % 29.8
2 » 32.1

L v 44.7

Question Number : 182 Question Id : 1626532011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Three identical dice are rolled. The probability that the same number will appear on each of them is:

Options:



Question Number : 182 Question Id : 1626532011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 183 Question 1d : 1626532012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
There are four machines and it is known that exactly two of them are faulty. They are tested, one by one, in a random
order till both the faculty machines are identified. Then the probability that only two tests are needed is:

Options:

o | =

1. 9

a2
b
o |



L] =
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Question Number : 183 Question Id : 1626532012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 184 Question Id : 1626532013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Let X be a Poisson random variable such that 2P(X = 0) = P(X = 2). Then the standard deviations of X is:
Options:

1.%"‘3_‘~'(§
z.v”’ﬁ

Question Number : 184 Question Id : 1626532013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 185 Question Id : 1626532014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The probability of getting 4 heads in 6 tosses of a fair coin is:

Options:

15
5-m 2R

15
3. « 64

30

Question Number : 185 Question 1d : 1626532014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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15
3. ¢ 64

30

Question Number : 186 Question Id : 1626532015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If two regression coefficients are —0.1 and —0.9, then correlation coefficient is:

Options:

g oF —-0.3

Question Number : 186 Question Id : 1626532015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 187 Question Id : 1626532016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The normal equations for finding a curve of the form y = a + bx + ¢x* for ‘n’ data are:

Options:
1.9

Yy=na+brx+crx® Yxy=arx+bXx*+crx® Yxiy=aXxx*+brx*+crx*



2 =

Yy=a+bXx+crx? Yxy=aXx+bXx*+crx® Ixly=aXx*+brx*+crx*

3 *
Yvy=na+bXx+cXx?, Yyi=aXxy+bYx+crxd, Yxiy=aXx?+brx*+cXx?
¥ ) 3 )

4 #

Yy=na+bYrx+crxYaxv=atx+bhYXx*+cy, Yxty=aXx*+bXx*+crx’

Question Number : 187 Question Id : 1626532016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘N HFS F AT FH y=a+ bx + cx? & TF F T F OO0 IATT FAF0T &
Options:

1.9

Yy=na+bYx+cXx? Yxy=aXrx+bXx*+crx® Yxty=aXx*+bYXx*+crx?

2 =

Yy=a+bXx+crx? Yxy=aXx+brx*+crx® Ixy=aXx*+brx*+crx?

3 ®
Yy=na+blx+cxrx? Yyi=aXxy+bXx*+c)x®, Yx’y=aXx*+brx®+cxx?

4 #

Yy=na+brx+crx®Yaxy=arx+brx*+crx® Exty=akXx*+brx*+cEx’®

Question Number : 188 Question Id : 1626532017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A continuous random variable x has a probability density function f(x) = {ﬁx(lo— xjjgth{e:;st' Then the variance
of xis:

Options:

| =
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Question Number : 188 Question Id : 1626532017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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0, otherwise
Options:

Question Number : 189 Question Id : 1626532018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If loge™ is normally distributed with mean 1 and variance 4. then P(0.5 <x < 2) is:
(where the area between z=0 and z = 0.25 is 0.0987 and the area betweenz=0and z=0.5is 0.1915)

Options:
{ % 0.693

5 % 0.396
5 % 0.95

4 « 029

Question Number : 189 Question Id : 1626532018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
IfE loge™ 1 3 YEIOT 4 &F WY AT & ¥ FaRa & ar P(0.5 <x< 2) & AT gFm:

(@ z=03T2z=025% &7 &1 896 00987 g i z=0TFw z = 05 & §=7 &
&1Swer 0.1915 #)



Options:

| % 0.693
. » 0.396
. « 0.95

L v 029

Question Number : 190 Question Id : 1626532019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The standard error of the sample mean is:
Options:

, « the square root of the variance of the population divided by the sample size

- = the standard deviation of the sample mean

- u the variance of the population

4 = the variance of the sample

Question Number : 190 Question Id : 1626532019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 191 Question Id : 1626532020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When is a concept termed as complex?

Options:
, % When it is beyond explanation

> « When it has more than one attribute

5 = When it is above the average individual’s understanding

4 = When it cannot be represented

Question Number : 191 Question Id : 1626532020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 192 Question Id : 1626532021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Activities like climbing trees, plucking fruits, jumping, drama etc were part of educational programmes in educational
institutions established by which of the following philosophers?

Options:
, « Rabindranath Tagore

> % John Dewey

= % Rousseau

4 % Sri Aurobindo



Question Number : 192 Question Id : 1626532021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 193 Question Id : 1626532022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the classroom context when words are associated with pictures or meanings in language learning it is an example of’

Options:
1 #% Trial and error method

- % Discovery method of learning

=  Classic conditioning

4 = Operant conditioning

Question Number : 193 Question Id : 1626532022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HETT & W H o9 eE AN o H B & At F 3 @9 & O TE U 3G &

Options:

| T AR 3 @

ot R e
Sfmﬁma?érarﬁﬂ



Question Number : 194 Question 1d : 1626532023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the right sequence of a scientific method when:

a) testing hypothesis b) identifving the problem ¢) data gathering d) construct hypothesis
Options:
1 % b.c.a.d

5 R c.b.d, a

5 % d,a cb

4 4 b.d.':-.ﬂ

Question Number : 194 Question Id : 1626532023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 195 Question Id : 1626532024 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the law relevant to declining sex ratio?

Options:
, = Rightto educational opportunities

>  Right against female foeticide

- = Right to property



4 = Right against being arrested at night

Question Number : 195 Question Id : 1626532024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 196 Question Id : 1626532025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

One of the key recommendations by National Council of Teachers of Mathematics® Curriculum and Evaluation
Standards for School Mathematics (1989) is that instruction in elementary school mathematics should

Options:

, w shift from skill based to exam oriented approach where students focus on outcomes

- u follow easy methods where in students can understand and remember with ease

- % stick to approaches that have been followed by our ancestors

4

shift from a teacher-directed approach to those in which students are actively involved in searching for patterns and
experimenting with their own conjectures.

Question Number : 196 Question Id : 1626532025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 197 Question 1d : 1626532026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

“A process that happens when people look at a text and assign meaning to the written symbols in that text™ can be
defined as

Options:

, « Reading

5 % Writing

- u Drawing

4 % Watching

Question Number : 197 Question Id ;: 1626532026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 198 Question Id : 1626532027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Creativity in craft can be described as:

Options:

; = Making models according to the given patterns



-, u Following steps and procedures to reproduce given models

-  Being able to see material not as they are but what they can become

, = Being able to make articles based on instructions

Question Number : 198 Question Id : 1626532027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

RreT & wacHsar & & # g & 1 gear &

Options:
|y [T T YT F HOR HIST FAAT

ah few v Fizw @ g 9u = F fov fefef@a wew i s

. » TIHEA B WA H FEH B & AT I Al ¢ olfehed § FAT a1 Wbl &

, « Tt % 3R W O T F wEE A B AR

Question Number : 199 Question Id : 1626532028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Curriculum can be defined as that which is

Options:

, « inclusive of school subjects, learning experiences and activities

- % designed to suit particular schools

- u developed based on content and knowledge

4 # developed based on school requirements

Question Number : 199 Question Id : 1626532028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 200 Question Id ;: 1626532029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An observable inclusive practice in classroom is when

Options:

. w students without disabilities are actively participating in all activities

- « Students with disabilities are not made just mute spectators in learning activities

% % students with disabilities are taken out for remedial classes

4 = students with disabilities are made into groups

Question Number : 200 Question 1d : 1626532029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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